l 3 i Date Period 4

SM3 Unit 2 Review Sheet

You must complete thlS worksheet You may use your notes. You will see these questions
again. It you can do this: L,the test is going to be CAKE!!!

aph the function, label and identify the axis of symmetry, the
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‘) below. For which interval is the function positive or Ze€ro
v careful with your interval notation.
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3. Evaluate h(3t + 7) for the function h(x) = —2v3x — 2 + 7. Simplify your answer.

h(ﬁm) = <2 \|33er)-2 t7
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rea of playground that is 72 feet by 48 feet by
he length and the width. Write and solve an equation to find the
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storing what do we always do first?

8. 4x% + 24x + 36
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x omplex number? What should be

b + 27



11. Use the graph below to answer the questions.

| l‘ A. On what interval(s) is the function
| decreasing”
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B. On what interval(s) is the function
increasing’

(,M‘«q) UC*LS’,'@W>

C. Find the extrema of the function and
identify them as relative or absolute.
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and then factor it into a perfect square. Read



Solve the following equations. Use any method you want.

15.16 = 38x — 12x2 a4 = &IT 16. 3x%2 —24x —48 =0
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y Completi g the Square.

24. 4x* +12x+3 =0
fy2412, =3
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25. Find the axis of symmetry, vertex, and y-intercept for the function, f(x) = 3x* —10x + 7.
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26. Write an expression for the described function: a cube root
reflection, horizontal shrink of 1/3, a vertical
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2 your answer in standard form. What is the standard form of a
1 Also you CAN check your answers with a calculator!!!

29. (6 — 5i)(6 + 50)
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32 A water balloon is launched from a slingshot. The behe?vmr of this 18 m(idfllf;l] ll:))(’);haﬂer ;
function h(t) = —16t> + 64t + 15, where h is the height (in feet) of the wate s ocours. Put
seconds. Find the maximum height of the water balloon and state at what ., ific!
the answer in contexts. If you do not show work, tell me how you solved it. Be speciiic:

"-.--;‘F ;'
the
e e ) f

oy

o,

4-'4)\\.0( fgoe OC - }q(ci) - ’/(6(02) -‘/(Ot{(z)+/§ =

—

on two adjacent sides of her rectangular pool. Her pool’s
set. She is planning on building her patio by pouring an equal width of
1t sides (the length and the width). Peeps has 135 square feet of

Use x t O mar k the extensions.
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C. Solve the equation to find the length added to each side.

(Y *o?‘ﬂ(x—t' \8) 6(_0} LES) = (X-&Zqu*(S’B

L > = 90 |
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D. Write the answer in terms of context w1th the problem.

whbte Shotd add 3 f 1o Lot s “(Gd

Sraph the transformed function as described by the

all the transformations that are occurring to g(x).
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35. Write a quadratic expression given the following zeros: 3 and -2

[ X-3) (x+2)

‘X/T;S/ XZ-—X o = § (k)
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iven the following zeros: —2 + 5i and -4.




